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| Instructions for Candidates

1. Write your Roll No. on the to

p immediately on receipt of
this question paper.

2. This paper consists of 8§ questions.

|
3. Answer any 5 questions.

4. The marks of each question are written alongside the
questions. '

The use of non-programmable calculators is permitted.

Answers may be written either in English or Hindi; but the
Same medium should be used throughout the paper.
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(a) Let the probability that a child will look after its parents

when they are aged, be p=1, and let the threshold
probability that a father-mother pair finds acceptable
for receiving support from at least one child in their old
age be 0.95. Calculate the number of offspring that this

couple will choose to have. Also, explain the factors

that influence ‘p’. (3.4)

(b) In a society with gender bias where females are
expected to take care of child rearing activities, examine
the case for reduction in fertility when female wages

80 up as opposed to a rise in male wages. 8)

(3) I w0 o - o R ¥ e w, @
T W = 1, N TEdw W, @ o § W
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2. (a) In the Harris-Todaro modei, supposé the initial level of

urban employment is Ej = 2 million, the total urban
labor force is L, = 3 million, the urban wage is fixed by
law at Wy = 6, and the rural wage is W, = 3. If the

probability of finding a formal sector job is defined as

Ey/Lys

(i) Will a person who is currently in the rural sector

find it optimal to migraf '(‘5’-«.i e urban sector?
Explain, \\‘Y) UL

(i) If urban employment and the urban and rural
wages remain fixed, solve for 'the level of the
urban labor force which will result in the post

migration Harris-Todaro equilibrium,

)

P.T.0
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(i) Starting with the initial situation, how many tupy|
people must migrate to the urban sector in searey,
of jobs to achieve the equilibrium as obtained in
part (i)? (2.5,2.5,1)

(b) Briefly explain the Hartis-Todaro model of rural-urban
migration, and argue that despite acceleration in the
rate of absorption of labour in the formal sector, the
“informal sector as a fraction of the total labour force

(9)

4 increases.
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' 3. In the rural informal credit market, will the moneylender’s
preferred contract involve credit rationing? Analyse the

reasons and discuss. (15)

T FETERe SO SR W, T e W i s A s
T B? ERA R A ek el W

4. (a) In the presence of widespread under-nutrition in the
| rural labour market, the effect of changes in the
distribution of landholdings may be judged desirable not
only for their own sake but also for the cconomy.
Discuss. (9)

(b) Briefly explain how a policy of lending by the formal
e sector to large informal lenders can have a mixed offoct
- for small borrowers with no acecess to formal credit,

| (0)
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2

i rvi(a) Sharecropping emerges as a 'way to share not just the

output of productive activity but the risk associated with
it as well. Elaborate, (8

(b) Explain how the way debt contracts are specified in

rural informal credit markets can lead to a rise in land

inequalities in poor societies, M

(&) meﬁﬁmmwaq@wGﬁm
@wmﬁﬁmwﬁ%wﬁ@%mmmwm

2l fwr ¥ s

(@) W%mm%mmmﬁwﬁﬁ“ﬂg
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6. Explain the concept of sustainable development, and how it

is estimated. Are the movements in GDP, HDI and

sustainable development related? Discuss through empirical

evidence. (15)

e R o SR ) wa S F F A F
) e w T AR, Tt S wad e @ AR
¥ @iy 27 FESFT W B WA ¥ == W

]
ver, our actions took the world’s

of disaster, and they could do so
e the

7. “Collectively, howe

economy to the brink
ss we recognise what went Wrong and tak
In lightiof the above statement,
al crisis of 2007

again unle
steps needed to correct i,
discuss the reasons for the global financi
uch a crisis in future?

(15)

and what can be done to avoid s

g T Y TR TR A A FrfeTae W AT & HIR
wmﬁm,sﬂiﬁﬁmﬁﬂ%aﬂ'ﬂaﬁ%%waﬁﬁﬁuﬁqﬁ
it f O g AR 3 guR @ e e wie SowY”
S SR @ W ¥, 2007 & ARTw BT THe B HRON W
oo A ik W A U dhe A T D e w0 wsw
27

|

Scanned by CamScanner



4433 3

8. Trade policy is politically contentioyg becay
S

; e N 5C it p,
important domestic distributional Consequenceg, Di h
18Cusg 1,

etfects of globalization on poor in the developmg eco s i
nom, ~
in the light of conﬂlctmg viewpoints of eCOI‘lOmISts Iﬁ
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(a) Write your Roll No. on the top immediately
on receipt of this question paper.
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(b) Answer may be written either in English
or in Hindi; but the same medium should -
be used throughout the paper.
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AT 7 AT, @feh @ SR us & oW A
B grey |

(c) This paper consists of 8 questions.
g9 -9 # ofe " €|
(d) Answer any five questions.
RS | PT.O.
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A fall iy
) A fall in the infant mortality rate will bring

down the fertility rate in a society.” Dis
eiety,” Discuss,

RS HRRE S IR RIR 4

% e 3 ‘-(\‘ k

HH TR ﬂﬂ} ﬂﬁ“j FT % TOSHR ST W

S 2

hgg{}g:\;fthﬂt. Rakesh and Sheela are ti

heads a nuclear family, maki i

e g * family, mak ir

:\::lt\hl‘\ d;-. cisions. For Simplicitv\ u{l&qﬁhen‘

The l%‘:l ;\( et bias and issues of child ‘u.u:v'urnlt‘

bmwmq\mmg table details the costs lr.\lgd

\ S 1 I‘L'l STa s ‘ oy WYY
Sets pees) of different numbers of
Hi T s gaber o BRGNS
: BT AT Sfielr uen qRart

gi@aﬁw%@ﬁ%lmg

T@?]‘ & qahre IR F=d & e B g 7

ﬁﬁmﬁﬁﬁf‘@ﬁmm ¥ Ry gt @ arw

(597 ) =1 feeReT far 7 8 -

Number of
Children

Total Benefits Additional Cost
ESESI Ffafen ara

One
o

Two
ar

500 100

750 100

e}

k

[
.

‘v

e T e

AR

8006
Three 810 100
ellst
[Four 890 100
IRy
Fve 030 100
qiel
Six ' 950 100
|
Seven 960 100
[
Eight 960 100
S

(i)

(1)

Based onthein formation in the table, how many children
would Rakeshand Sheela have inorderto maximize their
net benefit? 2
ferepr & &1 T SR @ ST T e T
e ST S ST 1 AT BT % R R
a=el B4l ? '

Now consider another identical nuclear
family with Mohan and Rita as the heads.
Rakesh and Mohan are brothers and the two
couples form a joint family- Both couples
have exactly the sameé costs and benefits of
having children as in the table. Now suppose
that 50% of the cost of upbringing of each

child can be passed on to the other family.
Each couple’s decision is independent of the
d only on its own

other couple, and i8 base
hildren will each
3

welfare. Now how many c

couple have ?
3 P.T.O.
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(iii) Does the fertility choice differ in the above

cases ? Explain. 3

B Gﬁﬁﬁmﬁﬁaﬁmaﬁmaﬁm-w
BRI B 2 THEm |

Briefly discuss the Harris-Todaro model of rural-
urban migration and explain any one policy that
moves an economy towards an efficient labour

. 1 FrgfRh & T S |
allocation. 15 S
ddrg & g sarmE & BRa-aesl ged 4. (a) Show that in an economy with extensive
ag? & 3T fzmh s Hifa & are &t 97 T YT | possibilities for perfect crop insurance, fixed
5 aTrdes @) oNT 0% cderarar FI Wi Fe | rent tenancy must be dominant, irrespective
5 . .
el § of whether the potential tenants are risk-
(a) In the presence of information asymmetry '1 averse or risk-neutral, - 9
between lenders and potential borrowers in -~ | - i p s
the informal rural credit market, only the | Eﬁqﬁﬁiﬂ e | TE B :j.mrzﬁ fere
‘safe’ borrowers may drop out of the credit e eI, B o v fra | IE(IH-’:I{IF J4
market if interest rates are too high. Explain | @ enfea, @ e e fers-aiiege
your answer. 6 7y SfifeH-wee & ar el |
4 1 5 P.T.O.
L

T

(b)

8906

STITEnfes AT o7 AT # SarEreli S
%, er el &t agn e ¥ @ Faw g
QTR SROT AT A AraT e W & | ST
AT qHAE |

Show diagrammatically, that in casual labour
markets, both workers and employers are

at a disadvantage - the former due to low

nutritional status and the latter due to hiring

of low productivity labour. 9

srtel = @ B, & Ao 49 amri |,

st v e FrdieRT e e -
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() The following table gives default risnks

E i i ¥ ﬁﬂp-—..
varioua loan siges in an informal racal eredit

market, Suppose that the cate of ntereat §
.,,r_.z market ta LEY per vear, and that .m:., :,_”
ormal seetor (with no default) 10%, pery :
st il ovsitseniteas el asor s 7 |
SET QUHI R e (R ) ST st g
B 1t IR R 1 R Y st o sy et 189 B
AT afcrenf e A 3 (o18f g X 8 10% w_._,.y. ma_._

e,

BIRE

Loan size Loans defaulted
HEVT AT T

(%) (%)

50-99 5

100-149 10

150-199 20

200-249 25

250-300 30

>300 S0

(i) Calculate the maximum loan size that will

be offered in the informal rural credit
market. .
ATIgEntiss ardror woT "] § S @ e 39
SITEreRaH T STRTT &t 0T Hiford |

(ii) For what minimum rate of interest will loans
in the ¥ 250-300 category be offered? 6

250-300 ¥ 5t A0 F F7o7 =11 H Fea= A
< ¥ [&ar s ? .

6 ;

g-

HOOG

wWhat ia the vatlonale of enviroumentnl
repgulntion P Why do prescriptive regulations
dominate envivonmental regulations worldwide,
even though economic incentivens nre considered
preferable @ 15
wafereor frrren an e aqan & @ ozl gk
Forerell TrC QIR & Yt s rerst el faar s i, e
Sy anfeles st @ Aeee v smar i ?

(n) Provide onc explanation of interest rate
determination in rural credit markets when
the default probability is incependent of the
amount to be repaid. Further, discuss the
factors which are likely to alfect the
repayment probability ol a loan nﬁn:ﬂ_nﬁ__ms
a rural credit market. a ] 9

, H&ﬂﬂaﬂﬂ&mﬂﬂﬂ_ﬂ%ﬁ%mﬂﬂﬂﬂ
ﬂjﬂgﬂﬁﬂ@ﬂﬂmﬁﬁﬁﬂm&ma},ﬁ%
d@@ﬂﬂﬂmﬁﬂwﬂﬁmﬂﬂﬂﬂ*ﬁ,%ﬂ
=t s S AT = A H Eﬁﬂﬂ =T @l
AT AT 1 ST T T © |

(b) Explain how, among the poor, .HEE_E%
in the asset market magnily .EE E..n.oﬂ_w.
market inequalities. o -
%ﬂﬂﬂmﬂﬂmﬂgﬁm@mmﬁ %

FA EI .

7 P.T.O.
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7. How did the trel

nors of fault lines work mn the

destroy it in the
y the US financial
the detrimental

US financial sector to nearly
year 2007 ? Suggest reforms 1t
system which might minimize

121 » R
effects of a crisis in future, on the world econamy’

8,7

zon?ﬁmﬁﬁﬁﬁﬁﬁuaﬁﬁwﬁmﬁﬁﬁ%
ﬁwwmﬁ%m%ﬁmm ? Y G
ﬁ'zr—cﬁﬂmﬁﬁﬁ@nﬁﬂgﬂﬂﬁﬁﬁﬂﬁ%ﬂrﬁmﬁ
et OX G B BTN T I HH BT WA
g2 . _

Discuss the processes through which global
economic integration affects the condition of the

oor in developing countries. What measures
could help the poor ? 15

o7 el & A F T4 R, R ey ¥ 3w

syl weteRRer, Rrmradie e & O 3 Rl

eI AT B | ST ST T S HEE S asy P

8 : 3000
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Unique Paper Code : 12271502

Name of the Paper  : Development Economics- I

RQera 3rdiemes -1

Name of the Course : B.A. (Hons) Economics — CBCS CORE
Semester 'V
Maximum Marks : 75 marks

Instructions for Candidates

1. This paper consists of 6 questions. Answer any 4 questions
2. All questions carry equal marks

3. Answers may be written either in English or in Hindi, but the same medium should be
used throughout the paper

Q1. Economic development is a multifaceted concept embodying not just income and its
growth, but also achievements on other fronts. Critically examine this statement. In this
context, discuss the relevance of the Human Development Index (HDI) as an indicator of

development.

ql.aﬂféﬁmwagmnﬁmﬂwéﬁammaﬂ?mﬁww
Ul §, dfed 30T AT & 3dfeural o 8y anfier &ear &1 Rduacas & O
3T HUT I AT H| 3T TSI H, [ThT & T Thds & FT H, #AAT AhE
Heehieh T JrETARArT W <= HY|

Q2. Explain the concept of convergence in the context of the Solow growth model. How is

conditional convergence different from unconditional convergence?

92, Al gEf AlseT & el & A0 T ITURVT I FHASIST| Gl fraRor
SO o= e AT § oA §?

Q3. Assume that there are 10 people in an economy, numbered 1 to 10. Further assume that the
total income of this economy is $100 per day. For each of the three cases given below, calculate
the level of inequality as measured by the Gini Coefficient, and support it by drawing the
corresponding Lorenz curve.

Case A: The total income of the economy is shared equally by its population.



Case B: Individuals 8, 9 and 10 being the strongmen of the economy, appropriate 15% of the
income each, allocate 5% each to individuals 1, 2 and 3, and distribute the remaining 40%
equally among the remaining persons.

Case C: The strongest individual, 10, takes 50% of the income, and leaves it to 8 and 9 to
determine the other shares. Person 9 dominates 8 and takes 33% for himself, while person 8

takes 10%, and the other 7 individuals receive 1% each.

T 3. AT of [ Th 3NTcgaesqT # 10 oer &, 1 F 10 HT F&IT & | 36T A of foh 59
3rcgaeyT 1 et 3T 91 feeT $ 100 81w fow 91w oot Rt & g3 & forg, faeh
I[0TTeh EERT HTIT IIT IHATAAT o FAX T IOTAT Y, 3R 3HHT ST dsh & AT |
aRREUTT © rdcgaear i For 3T SR INEE aRT THAT & § HST HT ST
gl

aRfeufa & =i safed 8, 9 3 10 rdcaaedr & Hated cafed §, Tcde 3T AT 15%
o g, Ucdeh afad 1, 2 3R 3 &l 5% 3Mdfed ad &, 3 AV Il & & AT 40%
A ¥ & faka & €

aRfEufa T Ga@ AT eafad, 10, 3T 1 50% ofdr 7, 3R 37 fgear a1 fFeaiRa
el & TIT 30 8 3R 9 W BIS AT | STTFA 9, 8 W gMAT g, 3R 379 foIw 33% oIar g,
Stafeh IfFd 8, 10% oIdT &, 3R 3T 7 FTerd Tedeh 1% 9Ted d & |

Q4. a) “Poverty must be seen as the deprivation of basic capabilities rather than merely as
insufficient incomes”. Discuss.

b) Discuss and explain the four criteria for inequality measurement.

T 4. U) "I T el AT T & T AAIET STAATIN & 31T & &9 F @I ST
e | 7= X |
1) IHAAA AT F IR HARIGS IR IdT IR arear #|

Q5. Discuss the assertion that neither the state nor the market is uniformly successful in
managing natural resource systems. What, in your opinion, can be the right policy solution to

govern common property resources?



9 5. 30 S W AT A o drepfoien damereT qonferat & gete # of o T 3R o &
ISR GHATT & I el & | 39T T H, ATHATY AU GATHAT T [AIHT ¥t & fow

&Y N FATEITT 7 &Y Hehall 72

Q6. The structure of government institutions and of the political processes are important
determinants of the level of corruption. Explain how they affect the level of corruption in a

nation.

T 6. ELHRY AT 3 ATt Tcieh FTohAT3T ! EAT TR & FAX o Agcaqul forefiten
&1 910 T d Ueh ISE H SR o TR T Sl J31ad A ¢




Unique Paper Code : 12271602

Name of the Paper  : Development Economics- |1

foeme srfamr -11
Name of the Course : B.A. (Hons) Economics — CBCS CORE
Semester VI
Maximum Marks : 75 marks

Instructions for Candidates

1. This paper consists of 6 questions. Answer any 4 questions
2. Marks of each question are written alongside the question

3. Answers may be written either in English or in Hindi, but the same medium should be
used throughout the paper

et ¥ fog @A
1.3 99 § 6 T gl Al W1 4 99« & &
2. T T % 7 T % Ay o Ty @
3. ST HUSt AT RBar H o ST "Fd g, AT ¥ 49C H UE gl ATEAH AT
ST T ST A=Y

Q1. a) Show the preferences of a couple over the number of children it wishes to have and
‘other goods’ using indifference curves, when children are to be taken on the horizontal axis
and other goods on the vertical axis. What will be an ‘optimal’ fertility rate in this society,
when all goods, including children, are considered essential and normal goods?
b) Show what happens to the fertility rates if:
I.  Family income increases from sources other than wage income.
ii.  Family income increases as a result of increase in wage income where it is given
that women have to divide their labor time between raising children and being a
part of the labor force.
iii.  How would your answer to part ii change if wages were to go up exclusively for
men? (9.75+9)

1. a) IIENFAT T2dT KT ITANT FL, IFI 0 GCAT ¥ T TIHE % =9 UF Al Al
FUTATSA T (@, ST TGl FT AT deT I o/ F7 SATaT 8 3T AT qIHI Fl SHeATeT T8



T TH HATS H UF TIGH TS\ &< FT gR(l, ST agl Aigd Tl TJEqel ®l Aa9qe 3T

HTHTT FTHIE AT AT 872

b) fa@Tt o IsT== 3 &1 #7471 2T § Afa:

i. TSTERT ST o STATAT 3T=T STl & ITAT AT FEdl gl

ii. ToTgET o § i F aRuTHEEET qTiETE o § i gt 8, et a8 " St
g T Afgarst &1 agi 7 9T $fY A9 o1f<f 7 U Ze6r g & a9 9497 97

aay AT AT 9gar 2l
jii. =TS e TRUT & &l T § g RO AT SATTHT ii T IAC 78 Fael1? (9.75+9)

Q2. a) Consider an economy plagued with high levels of informal employment. Give your
opinion on what would happen to the size of the informal sector if policy makers embark on
Keynesian expansion to increase formal sector employment?

b) Given below is the production function for a family farm in country Zee, where income is
shared equally:

No of workers 1 2 3 4 5
Output ($) 1000 1800 2400 2800 3000

If the costs of migration are zero and there are 50% chances of anybody getting urban sector
job that pays $1300 per annum, then:
I.  How many workers will migrate from this family farm to the urban sector?
ii.  Will the number of workers migrating change if the total family income, whether
from the urban sector job or from the family farm, were to be pooled and shared
equally? (8.75+10)

2. @) FAATTATI LS o 3g €T ° TEq TATTEAT TOITSAT H, SHIATIH &7 o TSHITE &l

et % forg, Fifa Fataren T FAEEa Fea &7 09T av S| 9= S % /T FT 4T
2T, 39 9% (9T 107 &

b) = 9T ST F T UTRATE ©d (o0 IcATad oA (<47 AT &, ST T THET €9 |

ATAT T AT 2
qten! &f G T | 1 2 3 4 5

IqTEA($) 1000 | 1800 2400 2800 3000




T TATHA ol AN 9 ¢ AT AL &l ATy, ST I a9 $1300 FT aa+ It &, I il
et T =f=F it 50% FATaAT 2, ar:
i TH UTIETIGE O | gLy &= | fohael A0 Iera dr?
ii. AT TATIT A ATl AT 0l HEAT H IR T AQ Fd AT AT i,
T AT &7 T AR T FHHTAT AT AT ITRATE & |, Teh 1 THT FHAT 70

T qHTT T § qTAT AT SITU? (8.75+10)

Q3. Explain how well-implemented land reforms, involving redistribution of land from land
owners to landless, can lead to a rise in labour supply in rural agriculture markets? Use

suitable diagrams to explain your point. (18.75)

3. #g F % il v e i T s e &, e i avfernt & qfedEt # s
e AT Su, R avg ariior ST sl § 9| arqfd § g g1 aedt g2 St ard
THETT & [oIT IUIH A@l T START H7 | (18.75)

Q4.a) Explain why land inequalities tend to rise in poor rural economies, characterized by
collateralized informal lending. Use a suitable numerical example to demonstrate your point.

b) Do you agree with the hypothesis that in rural credit markets, where the probability of
repayment of loan is exogenously given, the lenders earn no ex-ante return on their money

over and above their opportunity cost? Explain using a numerical example. (9.75+9)

T4. a) Faru & T ATET sreferaedTent ®, S o Hurhae sra=ties v o v fFerear
@Al §, qH TEAEATG FI TEAT 82 AAAT a1q TS (90q HeeA & o0 TFh UL HeATHE

SETELIT T ITANT Fll

b) AT 3T TH TFHIAT § HEHA & (o ATHIT ST AT H, STl F0T hl FahldT i THTEAT
FIETFT T & & T2 g, FHIETAT I AGEE AN & SATF 3T ITh FAL A9 T 9T Fls
TATIATT SATST A5l HAT &2 Teh HEATcHE IO AT STANT FHileh THATU| (9.75+9)

Q5. With reference to productive base, explain the concept of sustainable development and
its measurement. How does the relationship between existing and optimal capital stock

explain sustainable development? (18.75)



5. ITATEH ATLTE F HaH §, TAT [hTE il FTALTIOT A IHeh AT hl HTEAT v | HISE]

AT TEAH Yol AUSTE (FSI) o o1 G, qad (AT &l ve THATAT 52 (18.75)

Q6. Discuss the processes through which global economic integration affects the poor in
developing countries. What could be the best possible ways of safeguarding the interests of
the poor and the vulnerable sections of the society when these countries integrate with the
rest of the world? (18.75)
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